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a l Dlscuss the circumstances under which the monetary and fiscal pollcy

multlpllers are each in turn, equal to zero. Explain in words why thns
el ,3,.)‘4 i

can happen and how llkely you think thisis. D

fid i

o 2.An 6pen economy is inherently more stable than a closed economy in
the simple Keynesian model. Why is that? Recent experiences shown
during the 1997 Asian financial crisis has the opposite results. What

was going wrong? Explain carefully.

3. What is a natural rate of unemployment? Describe factors that affect

the shift in natural rate of unemployment?

4.Channels through which changes in interest rate affect the economy are
of multi-magnitude, list and contrast with each of them within both a

closed economy and an open economy.




